12X 77"7 "0 X,12 M2MNs 702

— WP INTW 7 T2TIAD WA PIaN 1IN
These are believed to testify as adults what they saw in their childhood

OVERVIEW

The 71wn mentions various cases where an adult is believed to testify regarding
something that he saw while he was still a child (before mxn 72). md0IN discusses
whether he can be believed (even) if he gives this testimony as a Jvp.

- 213299 119903 '3 1Y 9P NAT 192972 IPAN 19901 XY )IVIDAT YNRUnN
It appears from the X773 that as children they are not believed even regarding
a 1120 issue, for the X9%3 establishes the testimony (in the 71wn) regarding 7m7N

that it means he is believed, as an adult, (only) regarding 31297 7%290; proving that
even by a 11217 they are believed only later when they become 0°7173, but not when they are still
ooIvp.

nvoIn asks:
= (0w 3,79 DINDOT NP D992 9INT YUN 12 PHNY 13929 DY

And the X'"'2° has a difficulty; for the Xn>>72 in the first 299 of 2°r70p ndon states -
= DVP) DITAY DIWI IDON NN NPITA DY DIIMNNY

That even women, slaves or children are believed regarding searching for ym -
- 132973 1339 979913511 1339 AN NPT PININ WM N3 FIN KWYWN 1919 75999

And the X713 asks; is there any substance to what the 0°1v?1 2>7231 0°w1 say; and
the X713 answers that since Y21 np>72 is only 33397», so the 1129 believed them

regarding a 3139 issue, i.e. yan np>72. It is evident from that X723 that when it comes to a 11277
we do believe 0°1vp, why does our 771wn imply that even by a 11277 we do not believe 2°10p?!

N1B0IN answers:
- 132972 YO 199X PANI 199 1152 NYD 1IN NPITAT DIVN RNAYV 1350 DNNT 99 Y

And one can say that there (by ynr np>72) the reason why we believe even a Jup

if it is a 33397, because y»r nps72 is in his ‘hand’ [power]; he is capable to be pma
vxr on his own, therefore if he testifies that he was p712 he is believed.” However here by N it
is not 172 to make him a 1713, therefore a jup is not believed.

"'2,m5. See “Thinking it over’ # 1.

? See “Thinking it over’ # 2.

3 The xn°™2 is on X,7; the concluding X713 is on 2,7.

* o"1upY 07237 0w are not acceptable witnesses.

> The same would be if he testifies that the master was ynan 272 he is believed because it is 17°2.
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nooIn asks:
- *NIDNN NUR RNMIINTA 199N 11927 NPT AW YaN

However there is a difficulty (with this distinction); for whenever it is Y793, a

woman is believed even if it is a RPNMIRT issue -
= 19N 1Y TRKYDY 191 (awr 3y 47 mEs) PTRN P993T

For in 9>7%77 99 the mwn teaches regarding the status of a woman who is [not]

separating 791 (that the husband can divorce her without paying her 721n3); indicating that
otherwise the man trusts his wife that she is separating 791 (which is a Xn*»9IX7) so he can eat

from her baking -
- 7)195¥ 1991990 1INY 01 Y93 DIUYN 919533

And similarly regarding =1 it is a daily occurrence that we trust the women to

do it properly even though it is a Xn>7X7; why by 11 np>72 (which is also 17°2) the Xn3 finds it
necessary to say that they are believed (only) because it is a 11277!

N1B0IN answers:
- yn nnabyy M oown N0 XN RN NPYTAT WA Onwirat amb v

And one can say; that in 25219 7270 he explains that there is a bother to

perform y»n nP>72, and women are too lazy to do this chore -
931291119 N XD 19297 NN NPITAT IND IN 291D

So therefore where it not for the fact that y»n n»372 is a 12129 obligation (but it

would be a &Xn»7X7) the women would not be believed even though that by other
Xn»7KT there are believed when it is 17°2. However since it is a 11277 (and also 17°2) therefore
o%1uPY 072y 0wl are believed.

SUMMARY

Y NP2 1s somewhat 1772, therefore 0°1vpP1 072y 2°W1 are believed only because it
is a 11277; by a complete 17°2 like 7%m 7P°3, a woman is believed even by a
XN*>7IX7; where it is not 17°2 at all, only 0°7173 can testify what they saw 110192 (and
only by a 71277).

6 Why does the X3 in 0°102 answer that 121 o°w1 are believed because y»n np»7a is 132777, if it is 17°2 (as MooIN
argues) even if it were Xn>7K7 the o°w1 would be believed. See “Thinking it over’ # 3.

" The n"an M amends this to read, 72 XIP AR

8 331 refers to the process of removing (from a slaughtered animal) all the sinews and veins that are forbidden
(either because of a7 ,Awin 7°3 or 27M).

? The reason why we trust them for 751 and M1 is because it is 272 to do it properly.

19 X" X" 2°109 (in the popular editions of the w17 it is on 2,2).

' Presumably this refers (certainly) to [2°3up1] 2*72y. See “Thinking it over’ # 3.

12 This makes it like a partial 1722 (not a complete 17°2); a partial 17°2 is believed only 112772 (like Y117 nP°72); however
a complete 17°2 (like by 712°11 771) is believed even by a Xn>»7IRT.
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THINKING IT OVER
1. mooIN writes that it is yawn that 0°1up are not believed, etc.'> Why is it just yawn,
it is seemingly ram (evident)?!"*

2. mooin infers that a jup 1s not believed even by a 71277 since the X713 establishes
that the MmiaX1 by 790 is only by 73297 217n." The Xma establishes the other
cases also by a 11277 (for instance 07577 nN°2 ,MVY 0P, etc.) Why does nvoIn only
mention 711n?!"

3. Can a jup be believed if it is completely 172 in a Rn»7IR7 situation?"’

13 See footnote # 1.

1 See 10w M (N"1) XN2 .
15 See footnote # 2.

' See (71%) K"wR.

17 See footnote # 6 & 11.
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